

	6
$f(x) = \begin{cases} x^2 - x & x \geq 0 \\ -x^2 - x & x < 0 \end{cases}$ $R_f \subseteq [-2, 2]$	$y = kx \xrightarrow{x=2} -1 = 2k \Rightarrow k = -\frac{1}{2}$ $R_f \subseteq [0, \infty) - \{2\}$ $R_f \subseteq [0, \infty)$ $R_f \subseteq [0, \infty)$
$\frac{x+1+x+1}{x^2+x} = \frac{2(x+1)}{x(x+1)} = \frac{2}{x} \xrightarrow{x=1} y = -2$ $R_f \subseteq \mathbb{R} - \{-2, 0\} = \{a+b \mid a < -2, b > 0\}$	$\frac{x+1+x+1}{x^2+x} = \frac{2(x+1)}{x(x+1)} = \frac{2}{x} \xrightarrow{x=1} y = -2$ $\hookrightarrow 0 = \text{مباين افق}$ $\hookrightarrow 0 = \text{مباين افق}$
$\sqrt{x} \leq t \Rightarrow y = \frac{(t-1)(t+1)}{(t-1)^2} = \frac{\sqrt{x}-1}{\sqrt{x}-1} = \frac{1}{\sqrt{x}-1}$ $R_f \subseteq (-\infty, 1) \cup [2, +\infty)$	$\sqrt{x} \leq t \Rightarrow y = \frac{(t-1)(t+1)}{(t-1)^2} = \frac{\sqrt{x}-1}{\sqrt{x}-1} = \frac{1}{\sqrt{x}-1}$ $\sqrt{x} \leq t \Rightarrow y = \frac{(t-1)(t+1)}{(t-1)^2} = \frac{\sqrt{x}-1}{\sqrt{x}-1} = \frac{1}{\sqrt{x}-1}$ $\sqrt{x} \leq t \Rightarrow y = \frac{(t-1)(t+1)}{(t-1)^2} = \frac{\sqrt{x}-1}{\sqrt{x}-1} = \frac{1}{\sqrt{x}-1}$
$\frac{(x+1)(x^2+2x+2)}{(x+1)(x+1)} = \frac{(x+1)(x+2)}{x+1} = x+2$ $D_f = \mathbb{R} - \{\pm 1\}$ $\left. \begin{aligned} \text{if } (x \leq -1) &\Rightarrow y \leq 1 \\ \text{if } (x \leq 1) &\Rightarrow y \leq 2 \end{aligned} \right\} \Rightarrow R_f \subseteq \mathbb{R} - \{1, 2\}$	$\frac{(x+1)(x^2+2x+2)}{(x+1)(x+1)} = \frac{(x+1)(x+2)}{x+1} = x+2$ $D_f = \mathbb{R} - \{\pm 1\}$ $\left. \begin{aligned} \text{if } (x \leq -1) &\Rightarrow y \leq 1 \\ \text{if } (x \leq 1) &\Rightarrow y \leq 2 \end{aligned} \right\} \Rightarrow R_f \subseteq \mathbb{R} - \{1, 2\}$